Maths: subtraction crossing 10.
Here is a video recap about subtraction crossing 10: https://kids.classroomsecrets.co.uk/resource/subtraction-crossing-10-video-tutorial/

Activity 1: Work out the answers to these subtraction problems.

- o Ron and Eva have worked out 12 - 5 on a

o Rosie has 15 cakes. number line.
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Her friends eat 6 cakes. Eva's method m
How many caokes does Rosie have left? | l | | | | | | | ] |

= 1 I 1 1 I 1
0 1 2 3 4 5 6 7 8 9 10 11 12

—_—

a) What is the same and what is different?

Rosie has cakes left. b) Use Eva's method to complete
the subtractions.

o Jack has 13 stickers. 19-6=
He gives 7 stickers to Dora. -
How many stickers does Jack have left?
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B B 15-8=
Jack has stickers left.
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Maths: subtraction crossing 10.

14-9=

14 -
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-6=7

1
3 456 7 8 9101112131415

Activity 2:

Jill has jumped along a number line and
ended up at 6.
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Make up your own puzzle about Jill for a
friend to solve.



Maths: subtraction crossing 10.

Answers:
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